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General Information Technology I II

General Information Technology I

Important :
¥ Answer all questions on the Answer Sheet provided.
¥ Write your Index Number in the space provided on the answer sheet.
% Instructions are given on the back of the answer sheet. Follow them carefully.

% In each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4 which is correct or
most appropriate and mark your response on the answer sheet in accordance with the instructions

given therein.

1. Which of the following binary numbers is equivalent to the decimal number 357
(1) 100001 (2) 100011 (3) 101011 ) 101010

2. Which of the following symbols should always be included in an email address?
(n : 2) @ 3 _ @ /

3. Consider the following diagram:

Laptop computer

: g File server

P e
Database server

Laptop computer Desktop

Which of the following devices represents @ in the local area nctwork (ILAN) as shown in the above diagram?
(1) Gateway (2) Network Interface Card

(3) Switch (4) Modem

4. Consider the following application packages.
| A - Database packages
\ B - Presentation packages
. C - Spreadsheet packages
Which of the above can be used to store and process data?

\ (1) A and B only (2) A and C only (3) B and C only (4 Al A, B and C
' Which of the following is the correct form of a URL?

L (1) hup:/www.doenets.lk/exam/ (2) hup://www.doenets. lk/exam/

(3) htmi://www.doenets.lk/exam/ @ http:\\www.doenets.Ik\exam\

S
[See page two




GIT/2016/01-E-LII : B

6. Following figure shows a part of a tool bar of a typical web browser.

- Which of the following is recommended to avoid health issues experienced in working with a computer for

8. What is the utility tool in an operating system that can be used to optimize the performance of a disk by
changing non-contiguous files to contiguous files?
(1) Character Map (2) Resource Monitor (3) Disk Cleanup (4) Disk Defragmenter
9. Which of the following features are available in word processing software?
A - Spell Checker and Thesaurus
B - Page Orientation
C - Mail merge
(1) A and B only (2) A and C only (3) B and C only 4) All A, B and C
10. Which of the following decimal numbers is equivalent to the binary number 100010112
() 13 (2) 139 3) 213 @ 231
I1. Consider the following statement with two blank spaces:
The Internet is a(n) whereas the Web is a(n) ,
Which of the following are the most appropriate terms respectively to fill in the blanks of the above
statement? :
(1) network of computer networks, Uniform Resource Locator (URL)
(2) network of computer networks, collection of information
(3) information resource, physical connection
(4) collection of servers, network connection
12. Consider the following statements:
A - Twisted pair cables usc copper as thc medium to transmit data
B - Optical fibre cables use light waves to transmit data
C - Data transmission spced of twisted pair cables is higher than optical fibre cables
Which of the following is correct?
(1) A and B only (2) A and C only (3) B and C only 4 AH A, B and C
13. Which of the following combinations show the services of the Internet only?
(1) email and HTTP (2) email and Web browsers
(3) email and File transfer (4) HITTP and File transfer
14. Consider the following statement with a blank space:
In a databasc a uses rows and columns to store a data set.
Which of the following is the most appropriate term to fill in the blank of the above statement?
(1) query (2) table (3) record 4 field
15. Which of the following are examples for database management systems (DBMS) only?
(I) MS Access, MySQL, OpenOffice.org Base
(2) MS Access, Excel, MySQL
(3) DB2, Excel, MySQI.
(4) MS Access, MySQL., Excel
16. Consider the following statement with a blank space:
A ___ contains the information for a single entity in the database.
Which of the following is the most appropriate term to fill in the blank of thec above statemcnt?
(1) table (2) cell 3) field (4) column
A

e N

& > O a

Select the most appropriate outcome if you click on the active |6| button.

(I) Move to the previous web page or website (2) Always move to the homepage of the website
(3) Move to the next website (4) Close the web browser

a long time?

(1) Taking a break in every 30 minutes

(2) Using a computer with a smaller screen

(3) Using the keyboard more frequently than the mouse
(4) Playing more enjoyable computer games

>y
[See page three
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18.

19.

20.

21.

" formatting symbols in a document?

22.

17. Threc obscrvations and possible causes are given in column 1 and column 2 respectively, but not in the

~

cofrect order.

Observation Cause

@ Files in a folder are automatically replicated ® A backup was not taken

® Unable to recover an accidentally deleted file @ Possible virus infection

® The message ‘No disk space’ appears when

- ® Hard disk is filled with files
attempting to save a file

Which of the following gives the correct order for the observations in column 1 to causes in column 27

(HD-® 0 -® 6 - 2D 0 -0 6 -®
3O @ —-»® 3 —® WD ®0-006-®

Consider the following statements:

A - In a distance learning environment students can access learning materials from their home any time
and attend o the lessons conveniently especially when they are unable to participate in traditional
classroom teaching.

B - Using modern tecchnology such as mobile devices, the government can provide up to date information
to farmers such as the possible crops to be cultivated, current prices of crops ctc.

C - The modern technology facilitates the general public to reserve tickets in long distance trains and buses
using mobile devices.

Which of the above statements are examples for e-services?

(1) A and B only (2) A and C only (3) B and C only 4 All A, B and C

In which of the following ways a virus may transmit to your computer?
A - by email or by an attachment of an email

B - by downioading material from the Internet .

C - by sharing removable storage devices such as a flash memory stick.

(1) A and B only (2) A and C only (3) B and C only @ All A,B and C

Consider the following statements.

A - MS-DOS is an operating system which uses a command line interface (CLI).
B - Isuru Linux and Hantana Linux are two open source operating systems localized by Sri Lankans.
C - Microsoft Windows is an operating system without a graphical user interface (GUI).

Which of the above statements are correct?
(1) A and B oniy (2) A and C only (3) B and C only 4 Al A, B and C

Which of the following tool in word processing software is used to view paragraph marks and other hidden

2) @

Assume that you have just finished typing a two page document using a word processing software and your
printer is in ready mode. What is the most suitable way to print this document?

(1) Using Print Screen key (2) Using CTRL + P key combination

(3) Using ALT + P key combination (4)- Using CTRL+ Enter key combination

Bhanu is editing a document he created yesterday. Which of the following statements related to saving his
file is correct?

(1) ‘save’ option saves the file with a different name.

(2) ‘save as’ option saves the file with thc same name or different name.

(3) ‘CTRL + V’ key combination saves the file with thc same name.

(4) ‘CTRIL. + C’ key combination saves the file with the samec name.

Which of the following statements related to spreadsheet software are correct?
A - In spreadsheets, data are displayed as rows and columns.

B - The intersection of a row and a column is called as a cell.

C - The cell address of the ‘Home’ position of a worksheet is tAA]

(1) A and B only (2) A and C only 3) B and C only 4 Al A, B and C _ Ul

[See page four
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27.

29.

30.

31.

32.

33.

25. Cecll values in a worksheet arc given as follows:

Al =2 Bl =3 Cl =4 DI =5
The formula =(Al1+B1)/CI*DI1 has becn entered in cell B4. What is the value displayed in cell B4?
(1) 3.25 2) 4 3) 4.25 4 625

Consider the following statements related to presentation software:

A - Pressing the key P within a slide show will display the previous slide.

B - Using CTRL + N key combination will inscrt a new slide.

C - Slide sorter view can be used to view more than onc slide in the screen.
Which of the above statement(s) isfarc correct?

(1) A and B only 2) A and C only (3) B and C only @ AIll A, B and C

A school decides o obtain the services of a Computer Applications Assistant to help in the day to day
work in its office. Experience in which of the following areas will be a relevant qualification for a suitable
candidate?

(1) computer programming and dcbugging

(2) network administration

(3) use of the office automation software such as word processing and spreadsheet

(4) information technology management

Which of the following components of a computer performs the operations on data?
(1) Central Processing Unit (2) Main Memory Unit '
(3) Input Unit (4) Sccondary Storage Unit

Which of the following is mot essential to connect to the Internet?

(1) TP address (2) Network Interface Card

(3) Web browser (4) Services of an ISP

Consider the following scenario:

“A password protected document file stored in a computer in a common computer laboratory by one user
(X) has been accessed and modified by another user Y

Which of the following is the most likely reason for the above scenario?

(1) The length of the name given to the file was too short

(2) The password used by the user X was simple which could be guessed ecasily

(3) The user X has forgotten to kecep a copy of the original filc

(4) The user X has saved the file in a folder which does not belong to him

The descending order of the three binary numbers 1101101, 1101001, 1110010 is
(1) 1110010, 1101101, 1101001 ‘ (2) 1101101, 1101001, 1110010
(3) 1110010, 1101001, 1101101 4 1101001, 1101101, 1110010

Aparna finds out that, since 1960’s, the cost of computer hardware is considerably decreasing while the cost
of software is comparatively increasing. She explains the rcasons as:

A - Advances in technology reduce the hardware cost.

B - Increasing complexity of software increases the software cost.

Which of the following is acceptable regarding the above reasons?

(1) Both A and B arc valid (2) A is valid and B is invalid
(3) A is invalid and B is valid (4 Both A and B arc invalid
Which of the following represents the logic of the given flowchart?
(1) Do A (2) Do A Do A
If B Then While Not(B) -
Do C Do D
Else Endwhile o Yes
Do D Do C
Endif No v
(3) Do A @ Do A X [ poc |
While B If Not(B) Then
Do D . D}) C End
Endwhile Endif
Do C Do D

SRR

[See page five
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35.

37.

38.

39.

40.

34. What are the values of X, Y and Z when the following statements arc cxccuted in the given order?

Xov=: T3

Y = 14;

Z = 0

Z =Y-X;

Y = X;
(D X=0,Y=7,7Z=20 2) X=7,Y=14,2Z =17
(3): X =9, Y =9 L= 4 X=7,Y=7,Z2=0

Kamal tells Arun that he is going to meet a {riend called Rajan whom he met in a social media site. Arun
asks Kamal to do the following before he meets Rajan.

A - Verify Rajan’s personal information given in the social media site.

B - Inform Kamal’s parents that he is going to meet a new friend whom he met in a social media site.
C - Invite another friend of Kamal for the meeting.

Which of the above are reasonable to follow for Kamal’s own safety?

(1) A and B only (2) A and C only 3) B and C only (4) All A, B and C
A B
A— | 0 0
B | ‘ C 0 1
i 0
1 1
What arc the respective outputs of the above logic circuit when the inputs given in the table are applied?
(1) 0,0,0,0 2) 0,0,0,1 3y 0,1,0,1 @ 1,0.0,0 ‘
Consider the following program segment to answer Questions 37 and 38.
Count = 0;
Num = 0;

While Count < 4
Num = Num + Count;
Count = Count + 1;
Endwhile
Output Count;
Output Num;

What are the values of “Num’” and *Count’ when the execution of the above program segment is completed?
(1) Num = 3, Count = 4 (2) Num = 4, Count = 3
(3) Num = 6, Count = 3 (4) Num = 6, Count = 4

How many times the While loop in the given program segment is executed?
(H 2 2) 3 3) 4 “@ 5

In a certain coding system the alphabetic characters A to Z are coded in consecutive binary numbers. A is
coded as -1000000. What is the equivalent binary number for character C?
(1) 1000001 (2) 1000010 (3) 100001t 4) 1000101

Which of the following statements related to user accounts in an operating system are correct?

A - Each person can access his or her user account with a user name and password.

B - User account is a collection of information that tells which files and folders you can access, and what
settings in the computer can be customized.

C - User account does not allow you to share a computer with several people.

(1Y A and B only 2) A and C only (3) B and C only 4 Al A, B and C
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General Information Technology II
¥ Answer four questions only.

1. (a) In order to provide security for the computer laboratory in a school, students who have permission to
use the laboratory are required to enter their school admission number (X) and a password (Y) to a
device installed at the door. If both the admission number and the password are correct, the door (Z)
will be opened. If either one of them or both are incorrect, the door will not be opened.

Consider the following states:
Scenario State
Admission Number (X) and Password (Y) are correct ‘1’
Admission Number (X) or Password (Y) or both are incorrect ‘0’
Door (Z) will be opened ‘17
Door (Z) will not be opened ‘0
(i) Copy the following table to your answer book and fill in the column for state of Z.
State of X State of Y State of Z
0 0
0 1
1 0
1 1
(ii) Draw the logic gate represented by the above table. Indicate the inputs and the output clearly.
(b) Draw the equivalent logic circuit diagram for the following expression:
(A AND (NOT)B) OR NOT(A) = C
(c) During the same period, three students groups of a class have been assigned the following activities
to be completed using a suitable and available computer.
(i) Enter data about growth of plants, in the field.
(ii) Record sounds of birds at a level above the ground, take photographs in the environment and enter
relevant data.
(iii) Enter a set of data written in a CR book, to the computer.
The class has a desktop computer, a laptop computer and a palmtop computer.
Identify the most suitable type of computer to carry out each of the above activities and
write down the type of the computer against the activity number in your answer book.
(d) Consider the following scenario:
A student needs to prepare a report using a word-processing software package (®). Beforc start typing
the report, she scans the hard disk of the computer using an antivirus software (@. After completing her
report, she used a backup software ® provided by the operating system ® to back up all the files in
a specific folder in the hard disk to a flash memory stick.
Identify and write down the correct software type of ®, @, ® and ® in the above paragraph from
the list of terms given below.
List of Terms: {Application software, Systems software, Utility software} »
-

[See page eight
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2. (a) Consider the following paragraph with blank spaces numbered from (1) to (6).
Amali visited the website of the Department of Examinations by typing the a of the
website in the 2) of the 3) . From the home page of the website, she
accessed the relevant web page by clicking on the correct “@ . The website of the
Department of Examinations is part of the 5) and we cannot access websites without
the services of the 6) '

Identify the most suitable term to fill the blank spaces of the above paragraph using the list of terms
given below.

List of terms: {address bar, email, hyperlink, Internet, URL, web browser, WWW}
Note: Write down the relevant term against the number assigned to the blank space.

(b) Azma has taken a photograph of a heard of elephants _
during her recent visit to Yala National Park. She

. A—>|y

wants to share her experience and the photograph B o

with her friends through email. She opened a new C 5

email window similar to the figure shown right.

Fields and icons displayed in the email window are

labelled as A - J.

Dee

D —»| suas?

(i) The title of the email Azma wants to send is
‘My visit to Yala’. Write down the corresponding
letter of the field she should use to include
the title of the email.

(ii) Write down the corresponding letter of the

tool Azma needs to sclect in order to attach 48 O MO .-
her photograph to the email. T T T T T T

(iii) Azma wants to send her email to Amila. Write
down the corresponding letter of the field she EF GHI1J

should add the email address of Amila.

(iv) Azma also wants to send a copy of her email to Varuni. However, she does not want Amila to
know. that a copy of the email sent to Varuni. Write down the letter of the corresponding field
she should add the email address of Varuni.

(v) The following day Amila replied to Azma thanking for the information about the visit and the
photograph. In which folder of her email account will Azma usually find the email received from
Amila?

(vi) After two days, Azma wants to access her email sent to Amila and Varuni again. Write down the
name of the folder of her email account where she could usually find this email.

(c) The diagram shown below is a directory tree structure with blank spaces.

Subjects

 — — 1
[English]

[ _— el
{ ___________ Algebra Statistics

7

Copy this diagram to your answer book and fill in the blank boxes with correct labels by considering
the following:

(i) ‘Science’ is a sub directory of the parent directory ‘Subjects’.

(ii) The parent directory of ‘Geometry’ is ‘Maths’.

\_ /

[See page nine
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3. (a) Consider the following sentences with blank spaces related to presentation software.
(1) A siowasmsisivssiss can be commenced by pressing the function key F5 on the keyboard.
(i) The orientation of a slide can be changed through the ........................ window.
i) conmamsnapmes are the animation-like effects that occur in slide show view when move from one

slide to the next.

(iv) View of your slides in thumbnail form is called .......c.ccocoeiiiiiciis. view.

Identify the suitable terms to fill the blank spaces from the list of terms given below.

List of terms: {slide show/ animations/ belp window/ design templates/ page setup/.slide transitions/
slide sorter/ new slide}

Note: Write down the relevant term against the question number.

(b) Figure 1 shows a text document partially formatted using a word processing software. Elements to be
formatted further in this document are labelled as A-F.

@HOW polluted is YOUR country?

[ A staggering 90 per cent globally are breathing poor quality air.

< Pollution is blamed for more than six million deaths a year, new stats show.
The problem is worst in cities, but rural air is worse than many think.

| Data ‘is enough to make all of us extremely concerned,” experts have said,

Nine out of ten people globally are breathing poor quality air, the World Health
Organization (WHO) said yesterday.

In a staggering report, calling for dramatic action against pollution that is blamed for
‘ killing more than 16,000 Brits and six million people worldwide, every year.

New data in a report from the UN’s global health body ‘is enough to make all of us
extremely concerned,” Maria Neira, the head of the WHO’s department of public health
and environment, told reporters.

WHO released an 'interactive map showing the exposure to pollutants known as PM2.5

for all countries.

It also shows values for pollutants in various cities and towns.

@ The problem is most acute in cities, the report found, but air in rural areas is worse
than many think, WHO experts said.

Poorer countries have much dirtier air than the developed world, according to the report,

but pollution ‘affects practically all countries in the world and all parts of society’, Mrs

Neira said in a statement.

Read more: .
hitp://www.dailymail .co.uk/sciencetech/article-3809171/Over-90-world-breathing-bad-air-
E WHO .html#ixzz4] ecaZK38e

Figure 1

Figure 2 shows the formatting tools available in a typical word processing software. Using labels 1-17,
write down the tool(s) required to complete the following tasks.
Note: No marks will be awarded if you write more than the required number of labels.

L1a ]

5]
!

1 1

10

Figure 2

L W,

[See page ten
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(i) Change the appearance of the title of the document shown as A to bold face |
(ii) Centre the title of the document
(iii) Increase the font size of the title to 20

(iv) Change the appearance of sentences labelled as B to a bulleted list

(v) left justify the paragraphs labelled as € and D

(vi) Convert the text labelled as E and F to hyperlinks
(vii) Check the spellings of the document

(c) The past students society of a school purchases an office automation software for its office work, which
is licensed for a single user. The secretary of the society decides to provide a copy of this software to
each member since it was purchased from the society fund.

(i) Explain why the decision of the secretary is unacceptable.
(ii) Give one possible solution to obtain multiple copies of office automation software at a lower cost
or free of charge.

4. (a) The number of farmers who cultivated big onions in 2010 - 2015 is shown in the spreadsheet segment
\ given below:

caremes

kil 3 MR =SNG T+ IR SIS Ol SRR AN B o
Number of farmers Cultivated Big Onlon 2010 - 2015
2010 2011 2012 2013 2014 2015 Average
4,798 3,239 4,076 4,432 5,557 4,590
2,418 1,381 2,831 1,444 3,636 2,249
3,653 3,426 5,612 4,155 5,452 4,634
223 153 322 305 633 707

bhttg;[[wwwtstéi_i§';i:é§.'g‘ov.]li

(i) A formula of the form =functionl{(celll:cell2) is to be. used to calculate and display the total
number of farmers cultivated big onion in 2010 in cell B7.

Write down the correct terms for functionl, celll and cell2 in the above formula.

@ii) It is necessary to copy the formula entered in cell B7 to the range of cells from C7 to G7. The
following steps 1-3 show the required steps to achieve this. However, these steps are not in the
correct order.

1. Click on the fill handle

2. Drag the fill handle to G7

3. Click on the cell B7

Re-arrange and write down the steps 1-3 in the correct order.

(iii) What formula would be displayed in cell C7 after copying the formula in cell B7 to cell C7?

(iv) It is necessary to write a formula in the form of =function2(cell3:celld) in cell H3, to get the
average number of farmers in the Anuradhapura district.

Write down the correct terms for function2, cell3 and cell4 in the above formula.

(v) What is the most suitable graph type to show the variation of the number of big onion farmers

from 2010 to 2015, in each district seperately?

(b) A book shop wants to keep records about the books and suppliers of the books. The manager wants
your help to create a database systera for this purpose.

Part of the Book table you have created is shown below.

ISBN Title Author Edition Publisher Price SupID
9780134378183 | Essentials of MIS L.audon 19 Pearson Rs. 10900 Sup01
9780132146050 | Electronic Commerce Turban 7t Pearson Rs. 17000 Sup02
9781305867819 | Electronic Commerce | Schneider gth Cengage Rs. 1500 Sup02
9781111529116 | NCW Perspectives onl gopeider gt Cengage | Rs.17000 | Sup03

the Internet

Py
[See page eleven
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(i) Write down the appropriate field types for ISBN, Title, Edition and Price.
(i) Write down an appropriate field for the primary key.
(iii) Write down which database component (object) has to be used for the following tasks:
(1) Enter data or edit data of Book table
(2) Show formatted output about total sales of books by publishers
(3) Show titles available for the ‘Laudon’ as the author

5. (a) All the books in a library of a school are categorized into three types as ‘text’ books, ‘supplementary’
reading books and ‘other’ books. Total number of books in the library is 1000. A computer program is
used to count and print the number of books in each category. The flowchart for this activity with some
missing labels @ to @ is given below.

Match the lables @ to @ in the flowchart with the phrases from the following list.
List: {text-bks, other-bks, supp-bks, 1000, yes, no, book-type}

Start

Y

total-books =®; current-book = 0
text-bks = 0; supp-bks = 0; other-bks = 0

Ty

\ i -
total-books?

urrent-book<

A\ 4
text-bks = text-bks +!

Y
©) = otherbks + 1] [supp-bks = . () + 1

Y

current-book =

current-book + 1
]

y

T
print ‘Text Books =’ O

print ‘Supplementary Books = supp-bks
print ‘Other Books =" other-bks

End

ey
[See page twelve
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(b)

6. (a)

(b)

©)

~\

In a raffie draw tokens in three colours ‘red’, ‘black’, and ‘white’ are placed in a box. Each participant
takes a token and wins a gift depending on the colour of the token. This process is presented in the
following pscudo code.

start
get token
if token = “red” then
gift = “flash memory stick”
else if token =“black™ then
gift =“wallet”
else
gift =“ball point pen”
endif
endif
end ‘
Draw a flowchart to represent the above pseudo code.
Note: terms in the pseudo code must be used in the flow chart exactly as given.

A company uses video conferencing to conduct monthly progress review meetings with its representatives
in the branches located in different countries.

(i) List three items essential for video conferencing.

(i) Give two advantages of video conferencing over traditional face to face meetings.
Online shopping is becoming increasingly popular. Explain two advantages and two disadvantage of online
shopping compared to regular shopping.

Owner of a retail shop decides to buy a computer to be used for his day to day activities. He asks you
about the important features and requirements need to be considered in buying a suitable computer to
meet his needs. '

List three technical features and three non-technical features/requirements that may be useful to consider
in buying a computer.




